REFERENCE MANUAL TECHNO MODULAR
ENCLOSURES

BCH ELECTRIC LIMITED



B B L B s

12.
13.
14.
1S
16.
17.
18.
o
20.
21.
22.
2"
24.
25.
26.

27

INDEX

Base Frame & Mounting Detail
Corners & Mounting Detail

Corner Bar & Mounting Detail

Cross Bars & Mounting Detall

Door Stabiliser & Mounting Detail
Doors & Mounting Detail

Cover & Mounting Detail

Door with Window & Mounting Detail

Door with Cable Glands & Mounting Detail
Seperation Plate with Cable Glands & Mounting Detail

Panel Assembly Kit & Mounting Detall
Mounting Plate & Mounting Detail
Seperation Plate & Mounting Detail
Internal Gland Plate & Mounting Detail
External Gland Plate & Mounting Detail
Flat Cover & Mounting Detail

Wall Mounting Brackets & Mounting Detail

Cable Holder & Mounting Detail
Pockets & Mounting Detail

PE Cable & Mounting Detail

Screw Driver & Mounting Detail
Transport Wheel & Mounting Detail
Door Stay & Mounting Detail

“L” Shape Corner Kit & Mounting Detail
Glands & Mounting Detail

Louvre & Mounting Detail

19” Mounting Racks

1-2

15-16
17-18
19-20
21-22
23-24
25
26
27
28
29-30
31
32
33-34
35-36
37-38
39



BASE CORNER

SIDE PROFILE

CLAMPING
BRACKET

DESCRIPTION CORNER SIZE

BASE CORNER

DESCRIPTION PROFILE LENGTH

SIDE PROFILE
SIDE PROFILE
SIDE PROFILE
SIDE PROFILE
SIDE PROFILE
SIDE PROFILE
SIDE PROFILE
SIDE PROFILE
SIDE PROFILE

DESCRIPTION
CLAMPING BRACKET

100 X 100

100
200
400
600
800
1000
1200
1400
1600

WEIGHT kg

PANEL SIZE

300
400
600
800
1000
1200
1400
1600
1800

WEIGHT kg
05

47

CAT. NO.
BIL 10000
WEIGHT kg CAT. NO.
0.6 BIL 10030
1.3 BIL 10040
2.6 BIL 10050
3.9 BIL 10060
52 BIL 10070
6.5 BIL 10080
7.8 BIL 10090
9.1 BIL 10100
10.4 BIL 10110
CAT. NO.
BIL 10150



MOUNTING DETAIL

Base frame bracket

Hex. socket
counter sunk
screw

Ball head allen 6mm

for M8
Disc washer (10
DIN 6756
Clamping
brackets
Rubber plug
13mm dia.
Plastic
35mm dia.



CORNERS

DESCRIPTION WEIGHT kg CAT. NO.
CORNERS 0.8 BIL 10180

MOUNTING DETAIL

Plastic Plug 7mm dia.

Ball head allen, 6mm
for M8 bolt



CORNER BAR

MOUNTING DETAIL

Ball and allen
6mm for M8 bolt

Corner

Corner bar
anchor

DESCRIPTION

Side profile

Base corner

WEIGHT kg

1.2
1.7
2.2
3.2
42
5.2
6.2
7.2
8.2
9.2
10.2
1.2

CAT. NO.

BIL 10210
BIL 10220
BIL 10230
BIL 10240
BIL 10250
BIL 10260
BIL 10270
BIL 10280
BIL 10290
BIL 10300
BIL 10310
BIL 10320



CROSS BARS

DESCRIPTION WEIGHT kg CAT. NO.
0.3 BIL 10350
0.7 BIL 10360
1.1 BIL 10370
15 BIL 10380
1.9 BIL 10390
23 BIL 10400
27 BIL 10410
3.0 BIL 10420
35 BIL 10430
3.5 BIL 10440
43 BIL 10450

MOUNTING DETAIL

Ball head allen 5mm for
M6 bolt

Allen bolts
M6 x 25

Cross bar anchor

Cross bar plastic inserts



DOOR STABILISOR

DESCRIPTION

STIFFENER
STIFFENER
STIFFENER
STIFFENER

STIFFENER
STIFFENER
STIFFENER
STIFFENER

MOUNTING DETAIL

Clamping bracket for stiffner

Flat washer 6mm

Allen bolt, M6 x 8

Allen bolt,
M6 x 25

Anchor for
stiffner

SIZE (W x H) WEIGHT kg
600X 1600 4.6
600X 1800 5.0
600X 2000 54
600X 2200 5.8
800X 1600 5.0
800X 1800 54
800X 2000 5.8
800X 2200 6.2

Vertical pipe 1600mm
1800mm
2000mm
2200mm

Horizontal pipe 600mm
800mm

CAT. NO.

BIL 12270
BIL 12280
BIL 12290
BIL 12300

BIL 12350
BIL 12360
BIL 12370
BIL 12380



DOORS

BIL 11100

DESCRIPTION

DOOR
DOOR
DOOR
DOOR
DOOR
DOOR
DOOR

SIZE(W x H)

200 x 200
200 x 400
200 x 600
200 x 800
200 x 1000
200 x 1200
200 x 1400
200 x 1600
200 x 1800
200 x 2000
200 x 2200

400 x 200
400 x 300
400 x 400
400 x 600
400 x 800
400 x 1000
400 x 1200
400 x 1400
400 x 1600
400 x 1800
400 x 2000
400 x 2200

600 x 200
600 x 300
600 x 400
600 x 600
600 x 800
600 x 1000
600 x 1200
600 x 1400
600 x 1600
600 x 1800
600 x 2000
600 x 2200

800 x 400
800 x 600
800 x 800
800 x 1000
800 x 1200
800 x 1400
800 x 1600
800 x 1800
800 x 2000
800 x 2200

DOOR SCREW SYSTEM

LOCKS

WWWWWWMNNN - WWWWWWMNNONN - - WWWWWWMNNN - -

WWWWWwWwhhN -

WEIGHT kg

CAT. NO.

BIL 10480
BIL 10490
BIL 10500
BIL 10510
BIL 10520
BIL 10530
BIL 10540
BIL 10550
BIL 10560
BIL 10570
BIL 10580

BIL 10600
BIL 10610
BIL 10620
BIL 10630
BIL 10640
BIL 10650
BIL 10660
BIL 10670
BIL 10680
BIL 10690
BIL 10700
BIL 10710

BIL 10730
BIL 10740
BIL 10750
BIL 10760
BIL 10770
BIL 10780
BIL 10790
BIL 10800
BIL 10810
BIL 10820
BIL 10830
BIL 10840

BIL 10860
BIL 10870
BIL 10880
BIL 10890
BIL 10900
BIL 10910
BIL 10920
BIL 10930
BIL 10940
BIL 10950

BIL 11100



MOUNTING DETAIL

TM hinge - top

Camreceiver ~ TM hinge - bottom

Taptite screw - IEC lock
TM cam - plastic

Gasket - IEC lock
IEC lock housing
IEC lock insert "O" ring
Key for IEC lock "O" ring

Plastic nut
M22 x 1.5



COVERS

DESCRIPTION SIZE (W x H) WEIGHT kg CAT. NO.
COVERS 200 X 200 0.8 BIL 11130
COVERS 200 X 400 14 BIL 11140
COVERS 200 X 600 2.0 BIL 11150
COVERS 200 X 800 2.7 BIL 11160
COVERS 200 X 1000 816 BIL 11170
COVERS 200 X 1200 4.0 BIL 11180
COVERS 200 X 1400 5.0 BIL 11190
COVERS 200 X 1600 52 BIL 11200
COVERS 200 X 1800 519 BIL 11210
COVERS 200 X 2000 6.5 BIL 11220
COVERS 200 X 2200 71 BIL 11230
COVERS 400 X 300 1.6 BIL 11250
COVERS 400 X 400 2.6 BIL 11260
COVERS 400 X 600 4.9 BIL 11270
COVERS 400 X 800 6.0 BIL 11280
COVERS 400 X 1000 72 BIL 11290
COVERS 400 X 1200 8.3 BIL 11300
COVERS 400 X 1400 9.5 BIL 11310
COVERS 400 X 1600 10.6 BIL 11320
COVERS 400 X 1800 1.8 BIL 11330
COVERS 400 X 2000 12.8 BIL 11340
COVERS 400 X 2200 14.0 BIL 11350
COVERS 600 X 300 45 BIL 11370
COVERS 600 X 600 741 BIL 11380
COVERS 600 X 800 8.8 BIL 11390
COVERS 600 X 1000 10.4 BIL 11400
COVERS 600 X 1200 12.1 BIL 11410
COVERS 600 X 1400 138 BIL 11420
COVERS 600 X 1600 154 BIL 11430
COVERS 600 X 1800 171 BIL 11440
COVERS 600 X 2000 19.1 BIL 11450
COVERS 600 X 2200 211 BIL 11460
COVERS 800 X 800 1.5 BIL 11480
COVERS 800 X 1000 13.6 BIL 11490
COVERS 800 X 1200 15.8 BIL 11500
COVERS 800 X 1400 18.0 BIL 11510
COVERS 800 X 1600 201 BIL 11520
COVERS 800 X 1800 224 BIL 11530
COVERS 800 X 2000 23.2 BIL 11540
COVERS 800 X 2200 24.0 BIL 11550



MOUNTING DETAIL

Support bracket

U bracket

Allen bolt M6 x 8

Cover spacer

Chease head screw,
M6 x 30

10



DOOR WITH WINDOW

DESCRIPTION

DOOR WITH WINDOW
DOOR WITH WINDOW
DOOR WITH WINDOW

DOOR WITH WINDOW
DOOR WITH WINDOW
DOOR WITH WINDOW

DOOR WITH WINDOW
DOOR WITH WINDOW
DOOR WITH WINDOW

MOUNTING DETAIL

TM hinge- top

Cam receiver

TM hinge - Bottom

SIZE (W x H)

400 X 200
400 X 400
400 X 600

600 X 200
600 X 400
600 X 600

600 X 1600
600 X 1800
600 X 2000

WEIGHT kg

1.40
2.55
3.70

2.04
3.70
5.37

15.4
17.1
19.1

CAT. NO.

BIL 11660
BIL 11670
BIL 11680

BIL 11780
BIL 11790
BIL 11800

BIL 11850
BIL 11860
BIL 11870



DOOR WITH CABLE GLANDS

BIL 11100

MOUNTING DETAIL

TM hinge
top

DESCRIPTION

CABLE GLAND DOOR
CABLE GLAND DOOR
CABLE GLAND DOOR
CABLE GLAND DOOR
CABLE GLAND DOOR

SIZE (Wx H)

400 X 200
400 X 400
600 X 200
600 X 400
600 X 600

Gland plate - steel grey or white

TM hinge
bottom

WEIGHT kg

14
2.6
2.0
3.7
4.2

CAT. NO.

BIL 12490
BIL 12500
BIL 12520
BIL 12530
BIL 12540



SEPERATION PLATE
WITH CABLE GLANDS

DESCRIPTION

SEP. PLATE WITH CABLE GLAND
SEP. PLATE WITH CABLE GLAND
SEP. PLATE WITH CABLE GLAND
SEP. PLATE WITH CABLE GLAND
SEP. PLATE WITH CABLE GLAND
SEP. PLATE WITH CABLE GLAND
SEP. PLATE WITH CABLE GLAND

MOUNTING DETAIL

Cable gland plate 200mm
400mm
600mm

Cable gland profile 200mm
400mm
600mm

SIZE (W x H)

200 x 200
200 x 400
400 x 200
400 x 400
400 x 600
600 x 400
600 x 600

WEIGHT kg

0.6
0.8
0.8
1.3
1.9
1.9
25

CAT. NO.

BIL 14170
BIL 14180
BIL 14200
BIL 14210
BIL 14220
BIL 14240
BIL 14250



PANEL ASSEMBLY KIT

DESCRIPTION WEIGHT kg CAT. NO.
PANEL ASSEMBLY KIT 04 BIL 14280
MOUNTING DETAIL
BRS 50
bracket
Flat washer 6mm
Hexagon nut
M6
Allen bolt
M6 x 16 Allen bolt
MO x 20



MOUNTING PLATE

DESCRIPTION SIZEWxH)  ACTUALSIZE (WxH) WEIGHTkg  CAT.NO.
MOUNTING PLATE ~ 400x 200 348x 148 13 BIL 12570
MOUNTING PLATE ~ 400x 300 348x 248 20 BIL 12575
MOUNTING PLATE 400 x 400 348x 348 27 BIL 12580
MOUNTING PLATE ~ 400x 600 348 x 548 40 BIL 12590
MOUNTING PLATE ~ 400x 800 348x 748 55 BIL 12600
MOUNTING PLATE 400 x 1000 348x 948 6.7 BIL 12610
MOUNTING PLATE 400 x 1200 348 x 1148 8.3 BIL 12620
MOUNTING PLATE 400 x 1400 348 x 1348 97 BIL 12630
MOUNTING PLATE 400 x 1600 348 x 1548 110 BIL 12640
MOUNTING PLATE 400 x 1800 348 x 1748 124 BIL 12650
MOUNTING PLATE 400 x 2000 348 x 1948 13.7 BIL 12660
MOUNTING PLATE 600x 600 548 x 548 6.1 BIL 12700
MOUNTING PLATE 600 x 800 548x 748 8.2 BIL 12710
MOUNTING PLATE 600 x 1000 548 x 948 10.3 BIL 12720
MOUNTING PLATE 600 x 1200 548 x 1148 124 BIL 12730
MOUNTING PLATE 600 x 1400 548 x 1348 14.4 BIL 12740
MOUNTING PLATE 600 x 1600 548 x 1548 16.5 BIL 12750
MOUNTING PLATE 600 x 1800 548 x 1748 18.6 BIL 12760
MOUNTING PLATE 600 x 2000 548 x 1948 20.7 BIL 12770
MOUNTING PLATE 800 x 800 748x 748 10.9 BIL 12790
MOUNTING PLATE 800 x 1000 748 % 948 13.7 BIL 12800
MOUNTING PLATE 800 x 1200 748 x 1148 16.5 BIL 12810
MOUNTING PLATE 800 x 1400 748 x 1348 19.2 BIL 12820
MOUNTING PLATE 800 x 1600 748 x 1548 20 BIL 12830
MOUNTING PLATE 800 x 1800 748 x 1748 2.8 BIL 12840
MOUNTING PLATE 800 x 2000 748 x 1948 275 BIL 12850
DESCRIPTION WEIGHT kg CAT. NO.
MOUNTING RAIL 400 8.2 BIL 12980
MOUNTING RAIL 600 10.9 BIL 12990
MOUNTING RAIL 800 13.7 BIL 13000
DESCRIPTION WEIGHT kg CAT. NO.
FILTER PROFILE 1800 2.06 BIL 13030
FILTER PROFILE 2000 2.29 BIL 13040



MOUNTING DETAIL

Mounting rail

for mounting plate
400mm

600mm

800mm

Filler profile
1800mm
2000mm

16

Cable holder
200mm
300mm
400mm
600mm
800mm



SEPERATION PLATE

DESCRIPTION SIZE (W x H) WEIGHT kg CAT. NO.
200 x 200 0.3 BIL 13070
200 x 400 0.3 BIL 13080
200 x 600 0.3 BIL 13090
200 x 800 1.2 BIL 13100
200 x 1000 1.5 BIL 13110
200 x 1200 1.8 BIL 13120
200 x 1400 2.1 BIL 13130
200 x 1600 24 BIL 13140
200 x 1800 28 BIL 13150
200 x 2000 3.0 BIL 13160
400 x 400 1.2 BIL 13180
400 x 600 1.8 BIL 13190
400 x 800 24 BIL 13200
400 x 1000 3.0 BIL 13210
400 x 1200 3.7 BIL 13220
400 x 1400 43 BIL 13230
400 x 1600 4.9 BIL 13240
400 x 1800 5.6 BIL 13250
400 x 2000 6.2 BIL 13260
600 x 600 28 BIL 13280
600 x 800 3.7 BIL 13290
600 x 1000 47 BIL 13300
600 x 1200 5.6 BIL 13310
600 x 1400 6.5 BIL 13320
600 x 1600 1.5 BIL 13330
600 x 1800 8.4 BIL 13340
600 x 2000 9.3 BIL 13350

17



MOUNTING DETAIL

U bracket

Allen bolt
M6 x 8

Button head screw
M6 x 10

18



INTERNAL
3mm GLAND PLATE

DESCRIPTION SIZE (W x H) WEIGHT kg CAT. NO.
200x 200 0.6 BIL 13460
200 x 400 1.2 BIL 13470
200 x 600 1.8 BIL 13480
200x 800 24 BIL 13490
400 x 400 24 BIL 13510
400 x 600 3.6 BIL 13520
400 x 800 4.8 BIL 13530
600 x 600 5.6 BIL 13550
600 x 800 74 BIL 13560

19



MOUNTING DETAIL

Button head screw
M6 x 10

U bracket

Allen bolt
M6 x 8

20



EXTERNAL
3mm GLAND PLATE

DESCRIPTION SIZE (W x H) WEIGHT kg CAT. NO.
200x 200 0.6 BIL 13580
200 x 400 1.2 BIL 13590
200 x 600 1.8 BIL 13600
200x 800 24 BIL 13610
200 x 1000 3.0 BIL 13620
400 x 400 24 BIL 13640
400 x 600 3.6 BIL 13650
400 x 800 48 BIL 13660
600 x 600 5.6 BIL 13680
600 x 800 74 BIL 13690
800 x 800 9.0 BIL 13710

21



MOUNTING DETAIL

U bracket Retainer washer
Counter sunk
oval head screw
M6 x 16
Allen bolt
M6 x 8

22



FLAT COVER

DESCRIPTION SIZE (W x H) WEIGHT kg CAT. NO.
200 x 200 0.3 BIL 13740
200 x 400 0.5 BIL 13750
200 x 600 0.7 BIL 13760
200 x 800 1.2 BIL 13770
200 x 1000 1.5 BIL 13780
200 x 1200 1.8 BIL 13790
200 x 1400 2.1 BIL 13800
200 x 1600 24 BIL 13810
200 x 1800 2.7 BIL 13820
200 x 2000 3.0 BIL 13830
200 x 2200 3.3 BIL 13840
400 x 400 1.0 BIL 13860
400 x 600 1.3 BIL 13870
400 x 800 1.6 BIL 13880
400 x 1000 1.9 BIL 13890
400 x 1200 22 BIL 13900
400 x 1400 25 BIL 13910
400 x 1600 28 BIL 13920
400 x 1800 3.1 BIL 13930
400 x 2000 34 BIL 13940
400 x 2200 3.7 BIL 13950

600 x 600 1.6 BIL 13970
600 x 800 1.9 BIL 13980
600 x 1000 2.1 BIL 13990
600 x 1200 24 BIL 14000
600 x 1400 2.7 BIL 14010
600 x 1600 3.0 BIL 14020
600 x 1800 3.3 BIL 14030
600 x 2000 3.6 BIL 14040
600 x 2200 3.9 BIL 14050
800 x 800 2.1 BIL 14070
800 x 1000 24 BIL 14080
800 x 1200 2.7 BIL 14090
800 x 1400 3.0 BIL 14100
800 x 1600 33 BIL 14110
800 x 1800 3.6 BIL 14120
800 x 2000 &9 BIL 14130
800 x 2200 42 BIL 14140

23



MOUNTING DETAIL

Flat cover spacer

Cheese head screw
M6 x 12

24



WALL MOUNTING
BRACKETS

DESCRIPTION WEIGHT kg CAT. NO.
WALL MOUNTING BRACKETS 1.0 BIL 14410

MOUNTING DETAIL



CABLE HOLDER

MOUNTING DETAIL

Allen bolt M6 x 8

DESCRIPTION

CABLE HOLDER 200
CABLE HOLDER 300
CABLE HOLDER 400
CABLE HOLDER 600
CABLE HOLDER 800

26

WEIGHT kg

0.14
0.21
0.29
0.44
0.59

CAT. NO.

BIL 14310
BIL 14320
BIL 14330
BIL 14340
BIL 14350



POCKETS

DESCRIPTION WEIGHT kg CAT. NO.
POCKET 0.61 BIL 14440
MOUNTING DETAIL
Emery cloth

Grinding paper



PE CABLE

MOUNTING DETAIL

DESCRIPTION

EARTH STRAP 2.5 mm’
EARTH STRAP 4.0 mm’
EARTH STRAP 6.0 mm’
EARTH STRAP 10.0 mm’
EARTH STRAP 16.0 mm’

Cheese head screw
M6 x 10

LENGTH

200
200
200
200
200

CAT. NO.

BIL 14570
BIL 14580
BIL 14590
BIL 14600
BIL 14610



SCREW DRIVER

DESCRIPTION SIZE BOLT SIZE USED FOR CAT. NO.
STRAIGHT HEAD ALLEN 4 mm BUTTOMI\é HEAD SEP. PLATE BIL 14470
BALL HEAD ALLEN 5mm M6 CROSS BAR BIL 14480
BALL HEAD ALLEN 6 mm M8 CORNER BAR BIL 14490

DESCRIPTION SIZE BOLT SIZE USED FOR CAT. NO.
BLADE FOR AIR 4mm BUTTON HEAD SEP. PLATE BIL 14510
SD STRAIGHT HEAD M6
BLADE FOR AIR 5mm M6 CROSS BAR BIL 14520
SD BALL HEAD
BLADE FOR AIR 6 mm M8 CORNER BAR BIL 14530

SD BALL HEAD

DESCRIPTION WEIGHT kg CAT. NO.
BENDING TOOL FOR FIXED TYPE COMPARTMENT 0.9 BIL 14540



MOUNTING DETAIL

Ball head allen 6mm for
M8 bolt

Ball head allen 5mm
for M6 bolt

Allen bolt

M6 x 25
Straight head allen,
4mm
for button head bolt,
M6

Blade for Air SD ball head, 5mm
for M6 bolt

Ball head allen- 6mm for M8 bolt

Blade for air SD ball head, 6mm
for M8 bolt

Bending tool for fixed type
compartment

30



TRANSPORT WHEEL

DESCRIPTION WEIGHT kg CAT. NO.
WHEEL HOLDER 20 BIL 14640

MOUNTING DETAIL

Hexagon bolt M8 x 20

Wheel holder bracket

Transport wheel

Hexagon nut M8



DOOR STAY

DESCRIPTION WEIGHT kg CAT. NO.
DOOR STAY 0.6 BIL 15150

MOUNTING DETAIL



“L” SHAPE CORNER KIT

DESCRIPTION PANEL DEPTH

BIL 14670

400 BIL 14680
600 BIL 14690
800 BIL 14700

33



MOUNTING DETAIL

L panel screw

L panel base profile
200mm
400mm
600mm
800mm

Flat washer
L panel corner 10mm

Hexagon nut
M4 L panel base profile
200mm
400mm
600mm
800mm

Flat washer
M10

Hexagon bolt
M10 x 40

BRS 50 bracket

34



GLANDS

DESCRIPTION

35

SIZE
216 x 86
139 x 48
216 x 86
139 x 48
216 x 86
139 x 48
216 x 86
139 x 48
216 x 86
139 x 48
216 x 86
139 x 48

WEIGHT kg
0.300
0.060
0.300
0.060
0.300
0.060
0.300
0.060
0.300
0.060
0.300
0.060

CAT. NO.
BIL 14750
BIL 14760
BIL 14770
BIL 14780
BIL 14790
BIL 14800
BIL 14830
BIL 14840
BIL 14850
BIL 14860
BIL 14870
BIL 14880



MOUNTING DETAIL

L panel corner

Gland plate
steel grey

Louver GP
with stand

steel white
139 x 48mm

Louver gland
plate with

stud - steel white
216 x 86mm

36

Louver GP
steel white
139 x 48mm

Louver GP
steel white
216 x 86mm



LOUVRE COVERS

DESCRIPTION WEIGHT kg

. BIL 14930
6.7 BIL 14940

9.8 BIL 14950
11.0 BIL 14960

LOUVRE DOOR

DESCRIPTION WEIGHT kg

) BIL 14980
6.7 BIL 14990

9.8 BIL 15000
11.0 BIL 15010

37



MOUNTING DETAIL

Louver cover 200mm
400mm
600mm
800mm

Louver door 200mm
400mm
600mm
800mm

38



“19” MOUNTING RAILS

CABLE LADDER

“19” CABLE HOLDER

DESCRIPTION
19" RAILS
19" RAILS
19" RAILS
19" RAILS
19" RAILS
19" RAILS
19" RAILS
19" RAILS

DESCRIPTION
CABLE LADDER
CABLE LADDER
CABLE LADDER
CABLE LADDER

DESCRIPTION
CABLE HOLDER
CABLE HOLDER
CABLE HOLDER

39

U/ HE
7y
12U
16U
21U
31U
35U
40U
44U

U/ HE

31U
35U
40U
44U

SIZE (HEIGHT) WEIGHT kg
400 00.40
600 00.55
800 00.80
1000 01.20
1600 01.80
1800 02.12
2000 02.20
2200 02.60
SIZE (HEIGHT) WEIGHT kg
1600 03.00
1800 03.42
2000 03.80
2200 04.18
SIZE X WEIGHT kg
175 0.10
325 0.18
525 0.30

CAT. NO.
BIL 40898
BIL 40900
BIL 40910
BIL 40920
BIL 41950
BIL 41960
BIL 41970
BIL 41980

CAT. NO.
BIL 41100
BIL 41110
BIL 41120
BIL 41130

CAT. NO.
BIL 41150
BIL 41160
BIL 41170



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	1.pdf
	Page 1




